SCHEDULE OF PAYMENTS FOR DISFIGUREMENT
FOR THE AMPUTATION OF A HAND, FINGERS,

OR PARTS THEREOF

The numerals 1, 2, 3, 4, 5, shall designate respectively the following:

1. Thumb

2. Second or Index
3. Third or Middle
4. Fourth or Ring

5. Fifth or Little

TOTAL HAND
Fingers and Combinations 22 X SAWW
2 1 2 3 4 5 22 X SAWW
3 1 2 3 4 22 X SAWW
4 1 2 3 5 22 x SAWW
5 1 2 4 5 22 Xx SAWW
6 1 3 4 5 22 x SAWW
7 1 2 3 22 Xx SAWW
8 1 2 4 22 X SAWW
9 1 2 5 22 Xx SAWW
10 1 3 5 22 Xx SAWW
11 1 3 5 22 Xx SAWW
12 1 4 5 22 x SAWW
13 1 2 22 x SAWW
14 1 3 22 x SAWW
15 1 4 22 x SAWW
16 1 5 22 x SAWW
17 1 16.5 x SAWW
18 2 3 4 5 22 x SAWW
19 2 3 4 22 x SAWW
20 2 3 5 22 x SAWW
21 2 4 5 22 x SAWW
22 2 3 16.5 x SAWW
23 2 4 16.5 x SAWW
24 2 5 16.5 x SAWW
25 2 7.5 x SAWW
26 3 4 5 22 x SAWW
27 3 4 16.5 x SAWW
28 3 5 16.5 x SAWW
29 3 7.5 x SAWW
30 4 5 16.5 x SAWW
31 4 7.5 x SAWW
32 5 7.5 x SAWW




APPLICABLE TO INJURIES OCCURRING
ON AND AFTER DECEMBER 24, 1991
MAXIMUM DISFIGUREMENTS AWARD = $15,000

Disfigurement Awards for Partial
Loss of Fingers

One phalanx of 2nd, 3rd, 4th or 5th finger = 50% of finger
Two phalanges of 2nd, 3rd, 4th, or 5th finger = 90% of finger
One phalanx of thumb = 90% of thumb

Three Examples

EX. 1. If someone loses half a thumb and all of the 2nd and 3rd
fingers, Then 90% + 100% = 100% divided by 3 = 96.7%
of 22x SAWW
(from line 7 on the following page)

EX. 2. If someone loses one phalanx of 2nd finger, 2 phalanges
of a 3rd finger and all of the 4th finger, then 50% + 90% +
100% = 240% divided by 3 = 80% of 22x SAWW
(From line 19)

Ex. 3. If someone loses one phalanx of each 2nd and 3rd fingers,
then 50%

Disfigurement Awards for
Amputation of Toes or Parts Thereof

Large Toe SAWW x 3
One phalanx thereof SAWW x 2
Other toes SAWW x 2

One phalanx thereof SAWW x 1



